
Alpha
7
5+

8
6+

13
8-

7
3-

9 + 7 = _____ 

12 - 5 = _____ 

Beta
3 4
5 7+

4 2 6
1 0 8+

3 0 4
9 8-

8 3
6 7-

79 + 251 = _____ 

100  -  49 = _____ 

Gamma
4
6x

6
9x

5 9
1 3x

8 x 7 = _____ 1 4 2
6 7x

8 3
9 6x

Delta

48 ÷ 8 = ___ 72
9

= ___ 4 27 2 5 17 1,0 6 823 2,5 5 53 7

Epsilon

2
3

= ___x 4
7

3
5

= ___+ 6
11

5
8

= ___÷ 1
4

3
4

= ___- 2
9

1
3

= ____+2
2
5

1
3
4

= ____-10
7
9

7
1
6

= ____x4
3
7

11
4
5

= ____÷3
1
2

1

Zeta

1 5.7 8
6.4 9+

2 0 6.3
1 8.1 7-

8 9
.7x

2.6 4
.3 9x 5 9.07 1.0 62.5 .4 28

Placement Pretest
If a student misses more than 1 problem in a level, take the placement test for that level.

For example, if a student misses 2 problems in the Gamma level, take the Gamma Placement Test.



Alpha
7
5+

8
6+

13
8-

7
3-

9 + 7 = _16_ 

12 - 5 = _7_ 

Beta
3 4
5 7+

4 2 6
1 0 8+

3 0 4
9 8-

8 3
6 7-

79 + 251 = _330_ 

100  -  49 = _51_ 

Gamma
4
6x

6
9x

5 9
1 3x

8 x 7 = _56_ 1 4 2
6 7x

8 3
9 6x

Delta

48 ÷ 8 = _6_ 72
9

= _8_ 4 27 2 5 17 1,0 6 823 2,5 5 53 7

Epsilon

2
3

=x 4
7

3
5

=+ 6
11

5
8

=÷ 1
4

3
4

=- 2
9

Zeta

1 5.7 8
6.4 9+

2 0 6.3
1 8.1 7-

8 9
.7x

2.6 4
.3 9x 5 9.07 1.0 62.5 .4 28
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